
PFMSS6405

Easel Studio
TV Stand

84 45kg
(99lbs)

200x200/300x200
300x300/400x200
400x300/400x400
600x400



1

2

3

4a

15

4

26

2

16 1

10

F
8

A

F
A

4

3
AA

AA AA

TV TV
TV TV

BB

AA

TV TV

BB

AA

BB

TVTV

4

3

4b

5

C/D
F

Make sure the device (8) is properly mounted
on the upper arm (3) as demonstrated

M5×25(×4)
A

M8×40(×4)

2mm 4mm

D

(×4)
F

(×8)
G

(×8)
H

M8×60(×4)
E

M6×25(×4)
B

M6×40(×4)
C

1(×2) 2(×2) 3(×1) 4(×1) 5(×2)

11(×4) 12(×4) 13(×2) 15(×1)14(×1)10(×2)

7(×1) 8(×2) 9(×2)6(×1)

16(×2) 17(×1)

15

F
B

F
8

B

C/D
F

C/D
F

C/D
F

C/D
F

C/D
F

C/D
8
F

C/D
8
F

C/D
8
F

C/D
8
F

C/D
8
F

C/D
8
F

G

G

G
G

HHH

H H

G

G

H H H

G

G

H H

As shown in the figure, after ensuring that the hanging plate is 

This screw needs to be fasten 
before TV is put on

level, unscrew the screws on both sides together, and finally 
remove the hanging plate


